

Exercise 1.5

Find the general solution of initial condition also to the particular solution & graph or sketch it.

$$Q1:- e^{-\ln x} = 1/x.$$

$$\text{Sol:- } \textcircled{1} e^{-\ln x} = e^{\ln x^{-1}} = e^{\ln x^{-1}}$$

$$= x^{-1} = 1/x \text{ (proved)}$$

$$\textcircled{2} \rightarrow e^{-\ln(\sec x)} = \cos x.$$

$$\text{Sol:- } e^{-\ln \sec x} = e^{\ln(\sec x)^{-1}}.$$

$$= (\sec x)^{-1} = \frac{1}{\sec x} = \cos x \text{ (Proved)}$$

$$\textcircled{3}:- y' - y = 5.2.$$

Sol:- $y' - y = 5.2$ is linear in y as it is of form $y' + P(x)y = Q(x)$.

$$\text{Here } P(x) = -1, \quad Q(x) = 5.2.$$

As the general solution is;

$$y = \frac{1}{F} \left[\int FQ dx + C \right]. \rightarrow \textcircled{1}$$

First find $F = ?$

$$F = \int P(x) dx.$$

By putting values

$$P = \int -1 dx$$

$$P = -x$$

So q.d. $y = \frac{1}{e^{-x}} \left[\int (e^{-x} (5 \cdot 2)) e^{dx} + C \right]$

$$y = \frac{1}{e^{-x}} \left[-5 \cdot 2 e^{-x} + C \right]$$

$$y = \frac{1}{e^{-x}} \cdot (-5 \cdot 2 e^{-x}) + e^x C$$

$$\underline{y = -5 \cdot 2 + C e^x} \quad / \quad \text{Ans}$$

Q4. $y' = 2y - 4x$

Sol:- $y' - 2y = -4x$

The given eqn is linear in y as it is written in form of

$$y' + P(x)y = Q(x)$$

Here $P = -2$, $Q(x) = -4x$

As we know that,

$$y = \frac{1}{F} \left[\int P(x) F dx + C \right] \rightarrow \text{A}$$

First find $F = ?$

$$F = e^{\int P(x) dx}$$

$$F = e^{\int -2n \, dn}$$

$$= e^{-2n}$$

$$\text{eq (1)} \quad y = \frac{1}{e^{-2n}} \left[\int e^{-2n} (-4n) \, dn + C \right]$$

$$y = \frac{1}{e^{-2n}} \left[-4 \int e^{-2n} n \, dn + C \right] \rightarrow \textcircled{A}$$

$$\int_{II, I} e^{-2n} n \, dn = \frac{n e^{-2n}}{-2} - \int \left(\frac{e^{-2n}}{-2} (1) \right) \, dn$$

$$= -\frac{1}{2} n e^{-2n} + \frac{1}{2} \int e^{-2n} \, dn$$

$$= -\frac{1}{2} n e^{-2n} + \frac{1}{4} e^{-2n} + C$$

using eq (A).

$$y = \frac{1}{e^{-2n}} \left[-4 \left(-\frac{1}{2} n e^{-2n} + \frac{1}{4} e^{-2n} \right) + C \right]$$

$$y = \frac{1}{e^{-2n}} (-2) e^{-2n} (n) + \frac{e^{-2n}}{e^{-2n}} + \frac{C}{e^{-2n}}$$

$$\boxed{y = -2(n) + 1 + e^{2n} C} \quad \underline{\text{Ans}}$$

$$Q.3) \quad y' + ky = e^{-kn}$$

Soln: The given eqn is linear in y as;

$$y' + P(n)y = Q(n).$$

Here $P(n) = k$
 $\& \quad Q(n) = e^{-kn}$

As general solution is;

$$y = \frac{1}{F} \int F Q(n) dn + C \rightarrow (1)$$

First find $F = ?$

$$F = \int e^{P(n)} dn$$

$$= \int e^k dn \Rightarrow e^{kn}$$

$$\hookrightarrow (1) \Rightarrow y = \frac{1}{e^{kn}} \int e^{kn} \cdot e^{-kn} dn + C$$

$$= \frac{1}{e^{kn}} \left[\int e^0 dn + C \right]$$

$$= \frac{1}{e^{kn}} [n + C]$$

$$y = \frac{n}{e^{kn}} + \frac{C}{e^{kn}} \Rightarrow \boxed{e^{-kn}(n+C) = y}$$

Ans

Q6:- $y' + 2y = 4\cos 2x$; $y\left(\frac{1}{4}\pi\right) = 3.$

Sol:- $y' + 2y = 4\cos 2x.$

$y' + 2y = 4\cos 2x$ is linear in y .

By Comparing

$P(x) = 2, \quad Q(x) = 4\cos 2x.$

As general solution is;

$y = \frac{1}{F} \int F Q(x) dx + C \rightarrow \textcircled{A}$

To find $F = ?$

$F = \int P(x) dx.$

$F = e^{\int 2 dx} \Rightarrow f = e^{2x}.$

Using $\textcircled{A} \Rightarrow$

$y = \frac{1}{e^{2x}} \int e^{2x} (4\cos 2x) dx + C$
 $= \frac{1}{e^{2x}} 4 \int e^{2x} \cos 2x dx + C.$

$I = \int e^{2x} \cos 2x dx$

$I = \frac{\cos 2x (e^{2x})}{2} + 2 \int \frac{e^{2x}}{2} \sin 2x dx$

$I = \frac{\cos 2x e^{2x}}{2} + \int e^{2x} \sin 2x dx.$

$I = \frac{\cos 2x e^{2x}}{2} + \frac{e^{2x} \sin 2x}{2} - \int \frac{e^{2x}}{2} \cos 2x dx$

$I = \frac{\cos 2x e^{2x}}{2} + \frac{e^{2x} \sin 2x}{2} - \frac{1}{2} \int e^{2x} \cos 2x dx.$

$I = \frac{\cos 2x e^{2x}}{2} + \frac{e^{2x} \sin 2x}{2}$

$y = \frac{1}{e^{2x}} 4 \left[\cos 2x e^{2x} + e^{2x} \sin 2x \right] + C$

$y = \frac{4 \cos 2x e^{2x}}{e^{2x}} + \frac{4 e^{2x} \sin 2x}{e^{2x}} + \frac{C}{e^{2x}}$

$y = 4 \cos 2x + 4 \sin 2x + C$ Ans.

$$\underline{\text{Q7:}} \quad xy' = 2y + x^3 e^x.$$

$$\underline{\text{Sol:}} \quad xy' - 2y = x^3 e^x.$$

~~Here/Platz~~

Divide by x .

$$y' - \frac{2y}{x} = x^2 e^x.$$

$$\text{Here } p(n) = -2/n \quad \& \quad Q(n) = x^2 e^x.$$

The general solution is;

$$y = \frac{1}{F} \left[\int F Q(n) dn + c \right] \rightarrow \textcircled{1}.$$

First find $F = ?$

$$F = \int e^{p(n)} dn = \int -2/n dn.$$

$$F = e^{-2 \ln x} \Rightarrow \boxed{\frac{-2}{x} = F} \quad \text{or} \quad \boxed{F = 1/x^2}$$

$$\& \textcircled{1} \Rightarrow y = \frac{1}{1/x^2} \left[\int \frac{1}{x^2} \cdot x^2 e^x dn + c \right].$$

$$y = x^2 e^x + c x^2.$$

$$\boxed{y = x^2 (e^x + c)} \quad \underline{\text{Ans}}$$

Q8:- $y' + y \tan x = e^{-0.01x} \cos x.$ $y(0) = 0$
Sol:- is linear in y .

Here $P(x) = \tan x$, $Q(x) = e^{-0.01x} \cos x$.

As general solution is;

$$y = \frac{1}{F} \int F Q(x) dx + C \rightarrow (1)$$

First find $F = ?$

$$F = \int e^{P(x)} dx = \int e^{\tan x} dx.$$

$$= e^{-\ln \cos x} = e^{\ln(\cos x)^{-1}} = \frac{1}{\cos x} = F.$$

$$\text{Eq (1)} \Rightarrow \frac{1}{1/\cos x} \int \frac{1}{\cancel{\cos x}} \cdot e^{-0.01x} \cos x dx + C.$$

$$= \cos x \left[\int e^{-0.01x} dx + C \right]$$

$$= \cos x \left[\frac{e^{-0.01x}}{-0.01} + C \right].$$

$$y = -100 \cos x e^{-0.01x} + \cos x C \rightarrow (A)$$

Apply Initial condition $y(0) = 0$.

$$0 = -100(1) + C \Rightarrow \boxed{C = 100}$$

$$\boxed{y = -100 \cos x e^{-0.01x} + \cos x (100)} \quad \underline{\underline{\text{Ans}}}$$

$$\text{Q9:- } y' + y \sin x = e^{\cos x} \quad y(0) = -2.5.$$

$$\text{Sol:- } y' + \sin x y = e^{\cos x} \quad \text{is linear in } y.$$

By Comparing;

$$P(x) = \sin x.$$

$$Q(x) = e^{\cos x}.$$

Ans The general solution is;

$$y = \frac{1}{F} \int F Q(x) dx + C \rightarrow \textcircled{A}.$$

$$F = \int e^{P(x)} dx.$$

$$F = \int e^{\sin x} dx$$

$$F = e^{-\cos x}$$

Using eq $\textcircled{A}$

$$y = \frac{1}{e^{-\cos x}} \int e^{-\cos x} e^{\cos x} dx + C.$$

$$y = \frac{1}{e^{-\cos x}} \left[\int e^0 dx + C \right] \Rightarrow \frac{1}{e^{-\cos x}} [x + C.]$$

$$y = \frac{x}{e^{-\cos x}} + \frac{C}{e^{-\cos x}}.$$

$$y = \frac{x}{e^{-\cos x}} + C \rightarrow \textcircled{A} \quad \therefore \frac{C}{e^{-\cos x}} = C$$

Apply Initial condition i.e. $y(0) = -2.5$.

$$-2.5 = 0 + C \Rightarrow \boxed{C = -2.5}$$

$$\text{Ans } \Rightarrow \boxed{y = \frac{x}{e^{-\cos x}} - 2.5}$$

$$Q_{10}:- y' \cos x + (3y-1) \sec x = 0 \quad ; \quad y\left(\frac{1}{4}\pi\right) = 4/3.$$

Sol:- Divide by $\cos x$.

$$y' + (3y-1) \frac{1}{\cos^2 x} = 0.$$

$$y' + \frac{3y}{\cos^2 x} = \frac{1}{\cos^2 x}.$$

$$\text{Here } P(x) = \frac{3}{\cos^2 x}, \quad Q(x) = \frac{1}{\cos^2 x}.$$

As general solution is;

$$y = \frac{1}{F} \int F Q(x) dx + C. \rightarrow (A)$$

To find $F = ?$

$$F = \int e^{P(x)} dx \Rightarrow \int \frac{3}{\cos^2 x} dx = 3 \int \sec^2 x dx$$

$$F = \frac{3 \tan x}{e}$$

$$y = \frac{1}{\frac{3 \tan x}{e}} \int \frac{3 \tan x}{e} \left(\frac{1}{\cos^2 x} \right) dx + C.$$

$$y = \frac{1}{\frac{3 \tan x}{e}} \int e^{3 \tan x} \sec^2 x dx + C.$$

$$= \frac{1}{\frac{3 \tan x}{e}} \cdot \left[e^{3 \tan x} + C \right].$$

$$\therefore \int e^{f(x)} f'(x) dx = e^{f(x)} + C$$

$$y = 1 + \frac{C}{e^{3 \tan x}} \rightarrow (A)$$

Applying initial conditions i.e. $y\left(\frac{1}{4}\pi\right) = 4/3.$

$$\frac{4}{3} = 1 + \frac{C}{e^{3 \tan(\pi/4)}}$$

$$\frac{4}{3} = 1 + \frac{C}{e^3} \Rightarrow \frac{4}{3} = \frac{e^3 + C}{e^3}$$

$$\frac{4e^3}{3} = e^3 + C$$

$$\frac{4}{3}e^3 - e^3 = C \Rightarrow \frac{4e^3 - 3e^3}{3}$$

$$\frac{e^3}{3} = C \Rightarrow \boxed{C = 6.695}$$

① $\Rightarrow$ $y = 1 + \frac{C}{e^{3 \tan x}}$ Ans

$$\frac{2}{4} = \frac{(h \cdot 1)}{4}$$

Now $h(0) = 2$

$$\underline{\underline{Q11:-}} \quad y' = (y-2)\cot x.$$

$$\text{Sol:-} \quad y' - y\cot x = -2\cot x. \text{ is linear in } y.$$

$$\text{Here } P(x) = -\cot x \quad \& \quad Q(x) = -2\cot x.$$

As general solution is;

$$y = \frac{1}{F} \left[\int F Q(x) dx + C \right] \rightarrow \textcircled{A}$$

First Find $F = ?$

$$F = \int P(x) dx \Rightarrow \int -\cot x dx.$$

$$= \int -(\cot x) dx \Rightarrow (-1) \int \frac{1}{\sin x} dx = \frac{\ln \sin x}{e}$$

$$F = \sin x.$$

$\& \textcircled{A} \Rightarrow$

$$y = \frac{1}{\sin x} \left[\int \sin x \cdot (-2\cot x) dx + C \right].$$

$$= \frac{1}{\sin x} \left[-2 \int \sin x \cdot \frac{\cos x}{\sin x} dx + C \right].$$

$$= \frac{1}{\sin x} \left[-2 \int \cos x + C \right] \Rightarrow \frac{1}{\sin x} \cdot [-2 \sin x + C]$$

$$y = -2 + \frac{C}{\sin x}$$

Ans

Q12:- $xy' + 4y = 8x^4$; $y(1) = 2$.

Sol:- Divide by x .

$$y' + \frac{4}{x}y = 8x^3.$$

Here $P(x) = 4/x$, $Q(x) = 8x^3$.

As general equation is;

$$y = \frac{1}{F} \left[\int F Q(x) dx + c \right] \rightarrow \text{①}$$

First find $F = ?$

$$F = \int e^{P(x)} dx \Rightarrow \int \frac{4}{x} dx.$$

$$= \frac{4}{e} \int \frac{1}{x} dx \Rightarrow \frac{4 \ln x}{e} = \ln x^4$$

$$\boxed{F = x^4}$$

$$\text{①} \Rightarrow y = \frac{1}{x^4} \left[\int x^4 \cdot (8x^3) dx + c \right].$$

$$= \frac{1}{x^4} \left[8 \int x^7 dx + c \right] \Rightarrow \frac{1}{x^4} \left[\frac{8x^8}{8} + c \right].$$

$$y = \frac{1}{x^4} x^8 + \frac{c}{x^4} \Rightarrow \boxed{y = x^4 + c/x^4}$$

Apply Initial condition. $y(1) = 2$.

$$2 = (1)^4 + \frac{c}{(1)^4} \Rightarrow \boxed{c = 1}$$

The particular solution is;

$$\boxed{y = x^4 + c/x^4} \text{ Ans}$$

Non linear ODEs

QRR:-

$$y' + y = y^2 \quad y(0) = -1/3.$$

sol:-

$$y' = y^2 - y.$$

$$\frac{dy}{dx} = y(y-1).$$

$$\frac{1}{y(y-1)} dy = dx.$$

$$\int \frac{1}{y(y-1)} dy = \int dx. \rightarrow \textcircled{1}$$

$$\int \frac{1}{y(y-1)} dy = ?$$

$$\frac{1}{y(y-1)} = \frac{A}{y} + \frac{B}{y-1}.$$

$$\frac{1}{\cancel{y(y-1)}} = \frac{A(y-1) + By}{\cancel{y(y-1)}}.$$

$$1 = A(y-1) + By \rightarrow \textcircled{2}$$

$$\text{Put } y=1 \Rightarrow \boxed{B=1}$$

$$\text{Put } y=0 \Rightarrow \boxed{A=-1}$$

$$\text{so, } \int \frac{1}{y(y-1)} dy = \int \frac{-1}{y} dy + \int \frac{1}{y-1} dy$$

$$= -\ln y + \ln |y-1|.$$

GOVERNMENT OF KHYBER PAKHTUNKHWA
ESTABLISHMENT DEPARTMENT

$$\int \frac{1}{y(y-1)} dy = \frac{\ln |y-1|}{y}$$

Put in eq (A)

$$\frac{\ln |y-1|}{y} = x + C$$

$$\frac{y-1}{y} = e^x + e^C \quad e^C = C$$

$$\frac{y-1}{y} = e^x + C$$

$$\frac{y}{y} - \frac{1}{y} = e^x + C \Rightarrow 1 - \frac{1}{y} = e^x + C$$

$$-1/y = e^x - 1 + C$$

$$C - 1 = C$$

$$-1/y = e^x + C$$

$$1/y = -e^x + C$$

$$y = \frac{1}{-e^x + C} \rightarrow (A)$$

Apply Initial Condition $y(0) = -1/3$

$$-1/3 = \frac{1}{-e^0 + C} \Rightarrow -3 = -1 + C$$

$$\boxed{C = -2}$$

$$(A) \Rightarrow \boxed{y = \frac{1}{e^x - 2}} \quad \text{Ans}$$

$$Q_{23}:- y' + ny = ny^{-1} \quad y(0) = 3.$$

Sol:- Here as Bernoulli eqn.

$$\text{With } p(n) = n, \quad Q(n) = n \quad a = -1$$

$$V = y^{1-a} \quad a = -1 \quad V' \pm (1-a)V = -n(1-a)$$

As general eqn is;

$$V' \pm \frac{1}{F} \left[\int (1-a) F Q(n) dn + C \right] \quad \hookrightarrow \textcircled{A}$$

To find $F = ?$

$$F = \int_e^{(1-a)} p(n) dn \Rightarrow F = \int_e^{((1)-(-1))} n dn$$

$$F = \frac{2}{e} \int n dn \Rightarrow F = e^{n^2}$$

$$\hookrightarrow \textcircled{A} \Rightarrow V' \pm \frac{1}{e^{n^2}} \left[\int (1-(-1)) e^{n^2}(n) dn + C \right]$$

$$V' \pm \frac{1}{e^{n^2}} \left[\int 2 e^{n^2} n dn + C \right]$$

$$V' \pm \frac{1}{e^{n^2}} \left[\int e^{n^2} 2n dn + C \right]$$

$$V = \frac{1}{e^{n^2}} (e^{2n} + C)$$

$$V' \pm \frac{1}{e^{2n}} \rightarrow \textcircled{B}$$

Apply Initial Condition.

$$3 = 1 + \frac{C}{e^0} \Rightarrow \boxed{C = 2}$$

$$V = y^{1-a}$$

$$V = y^{1-(-1)}$$

$$V = y^2$$

$\hookrightarrow \textcircled{B} \Rightarrow$

$$\boxed{y = 1 + \frac{2}{e^{2n}}} \quad \text{Ans}$$

Q24:- $y' + y = -x/y$

Sol:- $y' + y = -x/y \Rightarrow y' + y = -xy^{-1}$ (Bernoulli ODE)

$\Rightarrow$ Here $P(x) = 1$, $Q(x) = -x$, $a = -1$

$v = y^{1-a}$ $\{ a = -1 \}$ So $v' + (1-a)v = -x(1-a)$

The general solution is;

$$v^a = \frac{1}{F} \int F Q(x) dx + C \rightarrow (1)$$

First to find $F = ?$

$$F = \int e^{(1-a)x} P(x) dx$$

$$F = \int e^{(1-(-1))x} 1 dx \Rightarrow \int e^{2x} dx \Rightarrow \frac{e^{2x}}{2}$$

$\{ (1) \}$ $\frac{v}{F} = \frac{1}{\frac{e^{2x}}{2}} \int e^{2x} (1-(-1)) (-x) dx + C$

$$v \cdot \frac{2}{e^{2x}} = \frac{1}{e^{2x}} \int e^{2x} 2x dx + C$$

$$v = \frac{1}{e^{2x}} \left[-\frac{e^{2x}}{2} + C \right]$$

$$v = \frac{1}{e^{2x}} \left(-\frac{e^{2x}}{2} \right) + \frac{C}{e^{2x}}$$

$\therefore 1-a$

$\therefore v = y^2$

$v = y^2$

$v = y^2$

$$\boxed{y^2 = -\frac{1}{2} + \frac{C}{e^{2x}}} \quad \text{Ans}$$

Q5. $y' = 3.2y - 10y^2$ (Not Linear In y Bernoulli eq)

Sol: $y' - 3.2y = -10y^2$

$P(n) = -3.2$, $a = 2$, $v = y^{1-a}$; $Q(n) = -10$.

As $u = \frac{1}{F} \int \overset{(1-a)}{P(n)} F dn + C \rightarrow (A)$

$F = \int \overset{(1-a)}{P(n)} dn = \int \overset{(1-a)}{-3.2} dn = \int \overset{(1-a)}{(1-2) 3.2} dn$

$\boxed{F = e^{+3.2x}}$

$V = \frac{1}{\frac{3.2}{e}} \left[\int (1-2) e^{3.2x} (-10) dx + C \right]$

$= \frac{1}{\frac{3.2}{e}} \left[10 \int e^{3.2x} dx + C \right]$

$= \frac{1}{\frac{3.2}{e}} \left[10 \frac{e^{3.2x}}{3.2} + C \right]$

$V = \frac{10 e^{3.2x}}{e^{3.2x} (3.2)} + \frac{C}{e^{3.2x}}$

$V = \frac{10}{3.2} + \frac{C}{e^{3.2x}}$

$y^{-1} = \frac{10}{3.2} + \frac{C}{e^{3.2x}}$

$\boxed{y = \frac{3.2}{10} + \frac{e^{3.2x}}{C}} \text{ Ans}$

As $v = y^{1-a}$

$v = y^{1-2}$

$v = y^{-1}$

Q26:- $y' = \frac{\tan y}{(x-1)}$ $y(0) = \frac{1}{2}\pi$

1/2020
1/2020
(7/11)
H/11

Sol:- $\frac{dy}{dx} = \frac{\tan y}{x-1}$

$$\frac{1}{\tan y} dy = \frac{1}{x-1} dx$$

By Integrating.

$$\int \frac{1}{\tan y} dy = \int \frac{1}{x-1} dx$$

$$\int \frac{\cos y}{\sin y} dy = \ln|x-1| + c$$

$$\ln|\sin y| = \ln|x-1| + c$$

$$\sin y = x-1 + e^c$$

$$\sin y = x-1 + e^c \rightarrow \textcircled{A} \quad e^c = c$$

Applying initial condition. $y(0) = \frac{1}{2}\pi$

$$\sin \pi/2 = 0-1 + c \Rightarrow c = 1+1 = \boxed{c=2}$$

$\textcircled{A} \Rightarrow \sin y = x-1 + 2$

$$\boxed{\sin y = x+1} \Rightarrow \boxed{y = \sin^{-1}(x+1)} \quad \text{Ans}$$

Q27:- $y' = \frac{1}{6e^y - 2x}$

Sol:- $y' = \frac{1}{6e^y - 2x} \Rightarrow \frac{dy}{dx} = \frac{1}{6e^y - 2x}$

$$\frac{dx}{dy} = 6e^y - 2x$$

$\frac{dx}{dy} + 2x = 6e^y$ linear in x

$P(y) = 2, \quad Q(y) = 6e^y$

As general soln is

$$x = \frac{1}{F} \int F Q(y) dy + C \rightarrow \textcircled{A}$$

$$F = \int P(y) dy \Rightarrow e^{\int 2 dy} \Rightarrow \boxed{F = e^{2y}}$$

$\textcircled{A} \Rightarrow$

$$x = \frac{1}{e^{2y}} \int e^{2y} \cdot 6e^y dy + C$$

$$x = \frac{1}{e^{2y}} \cdot 6 \int e^{3y} dy + C$$

$$x = \frac{1}{e^{2y}} \left[6 \frac{e^{3y}}{3} + C \right]$$

$$= 6e^{-2y} \left[2e^{3y} + C \right]$$

$$\boxed{x = 2e^y + C} \text{ Ans}$$

Ques:- $2xy + (x-1)y^2 = xe^x$ set $(y^2 = z)$.

Sol:- $2xy + (x-1)y^2 = xe^x$

Divide by $2x$.

$$yy' + \frac{(y)^2(x-1)}{2x} = \frac{x \cdot e^x}{2} \rightarrow \textcircled{1}$$

Let $y^2 = z$.

$$\frac{dz}{dy} = 2y y'$$

$$\frac{dz}{dy} = 2y y'$$

$$y \cdot y' = \frac{1}{2} \frac{dz}{dy}$$

By putting values.

$$\left(\frac{1}{2} \frac{dz}{dy} \right) + \frac{(x-1)z}{2x} = \frac{xe^x}{2}$$

$$\frac{dz}{dy} + \frac{(x-1)z}{x} = xe^x$$

$$z' + \frac{(x-1)z}{x} = xe^x \quad \text{is linear in } z$$

$$P(x) = \frac{x-1}{x} \quad Q(x) = xe^x$$

The general solution is;

$$y = \frac{1}{F} \int F Q(x) dx + C \rightarrow \textcircled{A}$$

to find $F = ?$

$$F = \int_2^x f(x) dx$$

$$F = \int_2^x \left(\frac{x-1}{x}\right) dx$$

$$F = \int_2^x \frac{x dx}{x} - \int_2^x \frac{1}{x} dx \Rightarrow \frac{x - \ln x}{e \cdot e} \Rightarrow \frac{x - \ln x}{e \cdot e}$$

$$F = e^x \cdot x^{-1} \Rightarrow \boxed{F_n = \frac{e^x}{x}}$$

④ ⇒

$$y = \frac{1}{e^x/n} \int \frac{e^x/n}{x} \cdot x e^x dx + C$$

$$= \frac{x}{e^x} \left[\int e^{2x} dx + C \right]$$

$$= \frac{x}{e^x} \cdot \left(\frac{e^{2x}}{2} + C \right)$$

$$\boxed{y = \frac{x}{2e^x} + \frac{xc}{e^x}} \quad \underline{\underline{\text{Ans}}}$$